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1) limx X 3x+3 _

x— 1 x—1

-2
2) < (/5" +4) =9Vx

3)J<6vx3 +4)dx=%x5/2+4x+c

4) im (3 —3cos(x)) = 0
x

x—0

5) 4 sec4(2x) =8 sec(2x)4 tan(2 x)
dx

)

a. X2, x5

b. x3, x4

C. X3

d. x2, x4

e. X6

f. x6

g.x1

h. x1

I. X1, X2, x6
J. X1, X2, X6
k. none

l. none

m. x5

n. x5

8)p=x+2y

min when x=20074. and y=100f.

min. fencing required = 400 ft.

9) 12=(91)% + (100 — 131)?

d=(91)% + (100 — 13 ¢)?

min. at ;= 5.2 seconds
min. distance =56.9 feet

10) »* +,?=5°

4 __y3mlsec.
dt
11) y= 243
) v 3
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